12/31 () RIRID2EKANYT Z1Z7FrL>SvF M) PR 12AX=(3)

S A e LA

(2016.12.16f%F S>+>JiEMA]

10 N BF05p

T
FoLII T

HER S ALTE BRNE B ER B4
1|52/ )| chE TOPHEIEAE B 9 4-0 0-4 1-1] 2fi
2(50 =B Ha kK bEHBO->5-2F-L B 7| 0-4 4-3 |1-1| 311
3| BE[E) [ESD UEISEFYU-F B 10 4-0 4-1 2-0 U
4 s LG PEHE SSAL=wHZ S| 8 3-4 1-4 0-2| 4z

NAE KB B HME  BES REtt R ET O RSB JE £
1153 P AHR JITC S 7 1-4 4-3 1-1 3
2300 FEY FHE R ERE R B 9 4-1 0-4 1-1| 21
3 || PPRR BEHH DIANF=ZATHTI— B 8| 3 -4 0-4 0-2| 441
4 4 MBE [EE JTUIARPF=2457 | Bl | 9 4-0 4-0 2-0 141
Ub—)L -3 B ZEIE) (S>F>2 01> N5 )
T4 BRI M= NEITRVET, 1,20I8—F XV 3,401 h—F X0 =l 23
JEAGRESEG. OB QEIETR @BKkRE @30+ DIEETRELEY, B 16
& 45— DR -T RIS TS AROFE K2 8
Kk 65— LAEE -7 R TS ARXOFE 3,42k 2

ABURA> N 6 (HAOSMAKTEEH)



12/31 (X)) RIZRID2EANYT Z1Z7FvL>IRyF S/ IR 12HRX=(3)

10 AR 1, 2L b—F X2 b

RElM) JE&5C

VETISEFY)—F

AEfE) &3
e 62
Bir #a
Fz B EEED P
29 o = B
22 Q”é(&ﬂw 7 60
&/ ThE
TOPHEIEKEY
5% (B
60

M (B

JIVIAYRPFZRI5T

10 AR 3,40 b—F X2 b

=5 ®/X
HEHBO->FTZAF—1A
Zi% BELH
61
EYiS RETH
PIIANFZATHTZ—
Ty =, | TS BELH
1tHG (RiE FrLlives 61
SSALZYIR
N
e 64
NEIN

JITC



12/31 () RIRID2EKANYT Z1Z7FrL>IIvF S
10 A N Z+F0Ep

JNFRME12HKR=(3)

/ )
[
SvliEivys

FT K /NIEAKR AEEE SN AEY BER O JEA
1|203 FEF 5L VIP TENNIS ACADEMY | %1% | 8 4-1 4-1 2-0 111
2z NI BELR  [Emmesssamsmws i 9 1 - 4 4-2 |[1-1 3fI
3w KM BHE |77—4-ZNeTA (&t 7 1-4 4-1 |1-1 241
40 S /L | EESSC i |10 2-4 1-4 0-2 4fi

Hh & EEB >+ e E=HF I 1
1 670 FHE $5HE BSEAS0->7-X | wi 9 3-4 0-4 1-1| 3fz
2|27 K& h>F | 77-4-ANrTA g 8 4-3 4-1 2-0 1fI
3w S EFF  SvasT-Ats- w7 4-0 1-4 1-1| 241
4
Ub—)L -3 B EIE) (5>oF>0R1> MR oY ]
“FIRY—518., NBRIBIN—F XD MATROVET, 1,26 h—F XN 3,408 —=F 52~ BB 23
SHAESER 1vs2:3vs4/1vs3 - 2vsd/ D2 ERITVET . HEBRS 16
JEAGRESEG. OB QEIETR @BKkRE @32+ DIEETRELEY, N2 M4 8
& 45— DR -T RIS TS AROFE 340088 2
Kk 65— LAEE -7 R TS ARXOFE AERAON 6 (HROSMAKTZEEHD)



12/31 (X)) RIRIDEKADYT S1Z7FvL>IRvF MR IFRMEI12ARE(3)

iR FAY

VIP TENNIS ACADEMY

e KT

VLSTZAEH—-

AfE =16
J7—4—=ZANIrTA

BNV
J7-1-AMr. TA

10 A1, 2L b—F X b~

FF HEAK
63
FF HEAK
22 OB At ) =
£& ot
65

10 AR 3,40 b—F X b

/NI BAAK
FAETERA>Y—F2af LT Z2hLy>
bye
R WL

At 5 FrLIIPuF 63

\ //

FEIRSSC
S #&E
65

e #&HE

BEABO0->7=X



12/31 (L) RVRIDOEANYD S1ZFFrLoINYF WRIPRHE12AKRE(3)
P —

220 NSk} AEEEEHR Trp

[10mLL T BF] (102l T &ZF]

AEH
(10#LL T BF]
B1S : 12 T EF(H)

‘ SEMBRS . HER RS0 EFE(E)

| [10M ZF)

k))) o Bl : RF BKBEF(K)

Pg % B : BB hVT BF(H)
m k/

DO AEBHTES ! 1 D LV



